
Economics European Union
Topic 2 Exercises



Exercise 0 (by the teacher)
Welfare analysis of a preferential trade 

agreement
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• This gives us a natural box in
which to examine the relationship
between tariffs (t) and the
differences in efficiency between
P (Partner)  and W (WORLD)  (Pp-Pw).

• We can draw the 45-degree line
which splits the box into 2 main areas.
We can now examine 5 separate
points on the chart using our standard
welfare analysis.
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Exercise 0. Set up for analysis
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Analyse each case
in terms of 
-Change in prices
-Change in imports
-Change of welfare



Exercise 1

Make two lists with the variables that are involved
in the STATIC and the DYNAMIC effects of
trade liberalization in a custom union
– prices, domestic demand and supply, allocation of

resources, the volume of imports and exports, 
structure of production, tariff revenues, specialization
according to comparative advantage, terms of trade, 
economies of scale, market power, production, the
pattern of trade, national income



Exercise 2

Analyze graphically the static effects of custom
unions? Under which conditions (of demand, 
supply, initial tariff level) is more likely that
trade creation dominates trade deviation?



Exercise 3

[Hitiris, pag 83] Analyse graphically the
effects of the Single European Market
(SEM) for a firm experiencing increasing
returns to scale. 



Exercise 4

Analyze graphically the effects of the Single 
European Market for a monopoly 
experiencing the opening of domestic 
market to foreign competition



Exercise 5

Analyze graphically the “growth effects” of 
the Single European Market


